w DISCUESION

Tnduction
A
: + we havet
=xample | Prove tha | '
Examp AL @ S SR RN o B 'H) For all Posl'"h\le lﬂf'(’j@fS, n.
2
Poog‘ we will prove \03 i‘ndactiron .
3 _
Pase step: For @ n=l, W€ have
s W d (Oph
,,————-";’__
Jasd )
Induction step @ Fon n =k, we assum
L Pt O N k Ceti1)
= v
we will \orov-ﬁ Alhe S+atenrent dor n ok st e
v P 2B TR S ) 2 (14234 k) Y (Bh)
3 sl
“f,‘i__) + (r*l)
o %
Lo as o) IR el
PR s S ok
2
S hE ST NED
2 7]
Exampl¢ 2 Prove +hat we have

(2n+)
s R W) e

Sor all - posttivVe  tntegers , n”
!

Proo 3+ fFor n =Y e
= (G Y
b

faix ]
Induction Step

asSSum €

2 )<(‘°*")(ZF F‘)

T:or Y\:Ktwe
o
Bvaag.r b it s e

G

For n:kt!l, we have ;
RO R L S S B ()2 243t (k)

= BECEY (2 +0) §
—_— g v
SZETY e



G ¥ LI E pe it e Sy, 3

b

kR (2 t1) +£,(k+l)>

o

B D e B Ot
: .
e L 2t L 6)
; 4
= (KH')(( 2k 3')(l<+l)>
6
- (Kﬂ)("(‘ku)H)(Z(KH)H)
b

[f)(aw\ple 3 ! Prove +that we have @

Wi o A S t(2n-1) = n*
Sor ohl "-)OS (+ive in "'?13 ers -nm
s () @ -
prood ©  Base tep! 205 - 1217 <=For n=2l |, we have
N R o |
Tncduction Step : For Nk :+ We QSume
i ot . Bl S

|1+3+ 5+ F 4 -+2k-l = k*
‘:U( n= lg+l LN @ |/\D\"{ : & o Zk*i
l*‘5'*5r'“|r~~~4(1“<+.3-|): o > At ( ) |
:(} £33 4547 +- +(2k~1)> 4‘(2\<H’

S A
e T8 kgt |

L T

i

2|

TInduition (v g nutswe il )
1 Prove +ung statment+ gor n=)

2. Assume +nk stotevment $or h= Kk
g.

Provk “he statement dor N=ktl.



